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GEOGRAPHY
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

Bad land topography is produced by :
(A) Snow Storms (B) Tsunamis

(C) Rainstorms (D) Bore tides

Stone lattices are produced by :

(A) Wind action (B) Water action
(C) Wave action (D) Glacial action
Eskers are :

(A) A Tundra tribe
(B) Glacial land forms
(C) A type of arid vegetation

(D) A type of animal found in the tropical forests

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) Select your answer from the codes given below:

Assertion (A) Ozone layer protects the earth from excessive quantities of
severely changing solar radiation.

Reason (R) : Ozone hole has been discoverd over the continent of Antartica.
(A) Both (A) and (R) are correct and (R) explains (A)

(B) Both (A) and (R) are correct but (R) does not explain (A)

(C) (A) is correct but (R) is wrong

(D) (A) is wrong but (R) is correct
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Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Select your answer from the codes as given below:

Assertion (A) Undercutting of base of soil or rock leads to headward erosion
in a stream.

Reason (R) : Undercutting of channels is caused by underground
percolation.

A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
C) (A) is true but (R) is false.

D) (A) is false but (R) is true

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes given below :

Assertion (A) Continental tropical air masses are dry and hot.
Reason (R) : Continental tropical air masses are not localised.
A) Both (A) and (R) are correct and (R) explains (A)

B

~—"

(
( Both (A) and (R) are correct but (R) does not explain (A)
(©) (A) is correct but (R) is wrong

(

D) (A) is wrong but (R) is correct.

Which one of the following is not a greenhouse gas :
(A) Nitrogen (B) Carbon dioxide

(C) Methane (D) Chloroflurocarbon

In which of the following weather conditions does the negative lapse rate of temperature
operate :

A) Surface inversion of temperature
B) Adiabatic change of temperature
C) Isothermal change of temperature

D) Advectional inversion of temperature
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10.

11.

12.

13.

Seasonal contrasts are maximum in :
(A) Low latitudes (B) Mid latitudes
(C) High latitudes (D) Sub-Tropics

The polar front is associated with :

(A) Origin of tropical cyclones
(B) Origin of wind belts

(C) Origin of temperate cyclones
(D) Origin of tornadoes

Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes given below:

Assertion (A) The Indian Ocean currents have a circulation pattern very
different from those of the Atlantic and Pacific Oceans.

Reason (R) : The Indian Ocean is influenced by the seasonal rythm of the
monsoon winds and is landlocked in the north.

A) Both (A) and (R) are correct and (R) explains (A)
B) Both (A) and (R) are correct but (R) does not explain (A)
C) (A) is correct but (R) is wrong

D) (A) is worng but (R) is correct.

The convergence of Ocean currents takes place in :
(A) Equatorial region (B) Tropical region
(C) Polar region (D) Mid - latitude regions

The north equatorial current in the northern Atlantic Ocean and the south equatorial
current in the Southern Atlantic Ocean are caused by :

(A) Centrifugal force at the equator
(B) Trade winds

(C) Coriolis force
(

D) Centripetal force towards the poles.
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14.

15.

16.

17.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes given below:

Assertion (A) : Ferrel's Law explains the clock wise direction of ocean currents
in the northern hemisphere.

Reason (R) : Coriolis force is responsible for anticlockwise direction of ocean
currents in the southern hemisphere

Codes:
(A) Both (A) and (R) are correct and (R) explains (A)

(B) Both (A) and (R) are correct but (R) does not explain (A)
(C) (A)is correct but (R) is wrong.
(D) (A) is wrong but (R) is correct.

Match List I with List II and select the correct answer from the code given below :

List - I List - II
(Type of soil) (pH values)
(a) Agricultural Soils i pH7
(b)  Extremely Acidic Soils (i) pH5-8
() Neutral Soils (i) pH8-85
(d) Extremely Alkaline Soils (iv) pH4-45
Code

(A) i i i i

(B) iii il il il
(©) i v i iii
(D) iv ii iv iv

Which one of the following scholars was the first to divide the world landmass into
three continents - Europe, Asia and Libya ?

(A) Anaximander (B) Hecataeus

(C) Herodatus (D) Eratosthenes

In which of the following books did Ratzel compare the ‘State” to an ‘Organism’ ?
(A) Anthropogeographie (B) Geographie Humaine
(C) Political Geography (D) Both A and C above

J—8005 8
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18.

19.

20.

21.

The concept of LEBENSRAUM was propounded by :
(A) Humboldt (B) Ritter

(C) Ratzel (D) Semple
With whom is associated the concept of “Pragmatic Possilulism” ?
(A) Bowman (B) Griffith Taylor

(C) Humbolt (D) Ritter

Match List I with List II and select correct answer from the code given below :

List - I List - II
(Author) (Name of Book)
(a) Taylor (i) Geography and Geographers
(b) Hartshorne (ii) Makres of Modern Geography
(c) Dickinson (iii) Perspective on the Nature of Geography
(d) Johnston (iv) Geography in the Twentieth Century
Codes
a b c d
(A) i i i ii
(B) iii il ii i
(C) iv i il i
(D) ii iv iv v

In rural areas small towns develop mainly for providing :
A) Market facilities

B) Educational facilities

C) Health facilities

D) Administrative facilities

J—8005 10
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22.

23.

24.

25.

26.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes given below :

Assertion (A) Urban fringe is the surrounding areas of large cities which have
strong socio - economic link with the city but yet not part of the
city

Reason (R) : Rapid growth of cities lead to urban fringe development.

Codes:

(A) Both (A) and (R) are correct and (R) explains (A)

(B) Both (A) and (R) are correct and (R) does not explain (A)
(C) (A) is correct but (R) is wrong
(D) (A) is wrong but (R) is correct.

In villages, the type of house in which man lives depends on :
(A) Cost of construction (B) Climate

(C) Locally available materials (D) Technology available

Rural to urban migration is the characteristic feature of :
(A) Developed countries (B) Developing countries

(C) Socialist countries (D) Capitalist countries

An increase in population at the rate of 2.1 per cent per annum will account for its
getting doubled in :

(A) 37 years (B) 29 years (C) 33 years (D) 28 years

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes given below.

Assertion (A) In Von - Thunen’s model of agricultural zones around a city,
each zone specialises in the production of those argicultural
products to which it is best suited .

Reason (R) : Von - Thunen did not conceive the advantages of combined
operation of specialised agricultural enterprises and the livestock

Codes:
(A) Both (A) and (R) are correct and (R) explains (A)

(B) Both (A) and (R) are correct but (R) does not explain (A)
(C) (A) is correct but (R) is wrong
(D) (A) is wrong but (R) is right

J—8005 12
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27.

28.

29.

30.

31.

Weber’s material index (MI) refers to ratio between

(A) The cost of raw materials and cost of product

(B) Transport cost and cost of labour
(C) cost of energy and cost of labour
(D) the weight of raw material and weight of product

Match List - I with List - II and select the correct answer from the code given below :

List - I List - II
(a) Zambia (i) Diamond
(b) South Africa (i) Mica
() Iran (iii) Copper
(d) India (iv) Petroleum
Codes

a b c d
(A) i i i iv
(B) ii i i iv
(©) il i iv i
(D) i ii iv il

In analysis of transportation network which of the following indices shows the highest
centrality in the lowest value ?

(A) Beta index (B) Alpha index
(C) Pie index (D) Diameter

In recent times the highest importer of Tea is :
(A) United Kingdom (B) China
(C) Pakistan (D) U.S.A.

Which of the following States does not have common border with Bangladesh ?
(A) Meghalaya (B) Tripura
(C) Mizoram (D) Assam
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32.

33.

34.

35.

36.

Which one of the following is a South Indian csste ?
(A) Madiga (B) Gujar

(C) Khatik (D) Dom

Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) Select your answer from the codes given below :

Assertion (A) Social diversity is the most effective manifestation of Indian
identity
Reason (R) : There are well defined tribal identities based on ethnic origin.

(A) Both (A) and (R) are correct and (R) explains (A)
(B) Both (A) and (R) are correct but (R) does not explain (A)
(C) (A) is correct but (R) is false

(D) (A) is false but (R) is correct

Which one of the following States has the highest concentration index of urdu
speaking population (1991) :

(A) Maharashtra (B) Bihar

(C) Madhya Pradesh (D) Uttar Pradesh

The theory of diffusion of innovation was propounded by :
(A) Christaller (B) Hagerstrand

(C) Hagget (D) Chorley

Which of the following is a direct indicator of regional development ?
(A) Hospital beds per 1000 population

(B) Length of roads per 1000 square kilometre

(C) Per-Capita consumption of steel

(D) Per Capita income
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Q) (A) W T fog (R) T B

(D) (A) 7Tora § forg (R) Tt 1

34. frAfafEd § 9 o1 4 T T5F 1 SgUTH SHEEAT (1991) Hh=0 Fehich Halod ¢ ?
(A) TR (B) =R
(C) T WeW (D) W I

35. e foron o1 fogrt gfaaifed feram T o ¢
(A) FFeRREm (B) TREEEW
(C) TrRsN (D) =it g

36. frefafad § 9 M YRR [T &1 e g9 © 2
(A) dfd TR SHEE fafeames fowml &t de |
(B) fd &R foheimieX Teehi ot e |
(C) ufeafad soard sl 3T |
(D) fd Al 3T |
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37.

38.

39.

40.

41.

42.

43.

Which one of the following methods is used for indentifying regions with variations
in levels of development ?

(A) Boundary girdles (B) Lorenze curve

(C) Principal Component Analysis (D) Nearest Neighbour Analysis

The Census of India recognizes how many size classes of towns :

(A) Five (B) Three (C) Six (D) Four

Which one of the five year plans for Economic Development of India elaborated the
policy on minimising regional disparities in Development ?

(A) Fourth Five Year Plan (B) Sixth Five Year Plan
(C) Third Five Year Plan (D) Fifth Five Year Plan

Which of the following is not a planned city ?
(A) Chandigarh (B)
(©) Jaipur (D)

Bhubhaneshwar

Lucknow

The following States were carved out after 1960. Arrange them in ascending

chronological order of their creation .
(i) Haryana if) ~ Sikkim
(i) Nagaland iv) Meghalaya

(A) i i i v B) i i iv i
(© i iv i i D) i i v i

In the delineation of physiographic regions of India the terms macro, meso, and micro
were introduced by

(A) R.L.Singh (B)
(C©) O.H.K. Spate (D)

M.B.Pithawala
S.P.Chatterjee

Which one of the following has contributed to low level of economic development in
India ?

(A) Slow decline in share of agriculture to Gross Domestic Product
(B) Rapid increase in share of employment in secondary sector
(C

(D

) Rapid increase in share of employment in tertiary sector
)

Out migration of skilled population to developed countries
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37.

38.

39.

40.

41.

42.

43.

freafafea 9§ 9 =@ 9w fafy § famma-wr o fafysar 1 gewr i ggam & fau g fe=n
T E?

(A) o AEen (B) TGS sl
(C) YHE =eh HEA (D) HHITY IS shTE A

YR STRTOAT S A TR a1 fehat 2mepr fori = e §2
(A) M= (B) Q) = (D) =R

forg geatg Ao | anfefer faema & foq foemg § referen fusman sl 8 & it Fifd o T
fran?

(A)  <ref deesie e (B) B UHaHta Al
(C) JaF derata I (D) Tt deedta Fer
frfafea 8 9 o[ u fefsa e =@ 82

(A) <UENTG (B) YaT

(C) AR (D) oGS

Frfafed T3 1960 & 999Td A TTT 9| 3okl 3k THHI0T o Shiet ShATHR Saieerd i

() R (i) faform
(iii) AAFTRIvS (iv) HEeE
(A i i i v (B) i i v i
(Q i iv i i (D) i i v i

A Sl Y-3Tehideh Taei § HHifRd 1 § Jad, Hedeh Td Y& vsa] shl Gearferd foma :
(A) sRua. fHg (B) TS, Hidraren
(C) STAF. T (D) TH.W. =il

frefafed 8 & frem vra & o faewm & 7 w)H dreE fean 22
(A) T =] qerd H i & qrT H ffim ge |

(B) fediaes &9 ¥ ISR & w1 # et Ifg |

(C) I & § ISR & 91 ¥ el gfg |

(D) T SEE o1 faehfad <ui o oer-yasH |
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44.

45.

46.

47.

48.

Narora nuclear power station is located in the State of :
(A) Maharashtra (B) TamilNadu
(C) Uttar Pradesh (D) Rajasthan

Match List I and List II and select the correct answer from the codes given :

List - I List - IT
Technique Theme
(a) Iso depane (i) Areal Data
(b) Threshold value (i) Nodal Hierarchy
(c) GIS (iii) Location of Facilities
(d) Graph Theory Application (iv) Spatial variation in cost

Codes: (a) (b) (c) (d)

(A) @ @) @@ @

(B) Gv) (@) @ )
© G @@ @) ()
(D) @) (v) (iv) (i)

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) Select your answer from the codes given below :

Assertion (A) Standard deviation is a measure of dispersion of values in a data
set.

Reason (R) : Value tends to move away from the central value in the data
set.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

Significance of regression co-efficient in bivariate analysis is studied by using the:
(A) t-test (B) F-test

(C) Standard error of estimate (D) Standard deviation

Representation of the Universe is best done by which of the following :

(A) Random sampling (B) Systematic random sampling
(C) Simple random sampling (D) Stratified random sampling
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44.

45.

46.

47.

48.
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T ATfaeR 9 g o ©
(A) wEREH (B)
(C) SWUSWH (D)

qferTg |

TorEd™ o

GeAt-1 TR G-11 b1 GHfera ifsre aen i< fed g ¥ wdt S| g -

i1 qE-11
GExicD) (qefawa )
(a) STEHET () & st
(b) TORIER YT (if) s geTgsR
(c) Sh.emE.T™ (iii)  Gforemsii
( (i

= < g fed T R, TH H FEE (A
3T IW A

HYA (A) : THIE fTae T Hier-ogg o gedi & qRado o A9 ¢
W(R):W—Wﬁq@wwﬁwm%

(A) (A) T (R) I W& € qen R) )ﬁww%

(B) (A) TN (R) 31 Tl € fhg (R), (A) T Tl AT 78 B |
(C) (A)H@%ﬁhﬁ ) T 2|

(D) (A) Tea § foig (R) W& 1

) el T ¥ SR I A HRO (R) | T T Hohal A

LTS THteT | THISE ol 1 eI = H 9 frges S gR e S ©
(A) d-w (B) TH-&=
(C) AN I YR Jfe (D) grHTfUTeh feorere

FE(US o1 Glaffie T or=s & 9 frefafed | 9 forad S €2
A) Fgf=s® gid=ad (B) oHAd Agiess Sid=rad
(C) WYY Agfoseh Tfd==m (D) i argfoseh Tfd=r=m

P.T.O.



49.

50.

Read the following paragraph and answer the following questions :

Humanistic geography is an approach in human geography which is
distinguished by the central and active role it gives to human awareness, agency and
creativity. It is at once an attempt at ‘understanding meaning, value and human
significance of life events” and an expansive view of what a person is and can do.
Although humanism is usually traced back to the French school of la geographie
humaine its revival in the 1970s owed much to a dissatisfaction with the more
mechanistic models developed during the QUANTITATIVE REVOLUTION . It often
seemed to suppress the essential subjectivity of both the investigator and the
investigated. As such it shared in the more general critique of POSITIVISM’s claim to
objectivity, and it was represented ‘as a form of criticism” through which geographers
can be made more self-aware and cognizant of many of the hidden assumptions and
implications of their methods and research, rather than as a coherent ‘methodology

for the “post-behavioural revolution” in geography’.

Mechanistic models were developed in which of the following phases of geography ?
(A) Quantitative geography

(B) Post-behavioural geography
(C) Radical geography

(D) Neo-deterministic geography

Humanistic geography focuses on :
A) Questions of inequality in society

B

~—~

Human awareness and human agency

C) Economic awareness and economic agency

(
(
(
(

D) Radical changes in society

-00o0-
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e feafem arg=ee &l &Y ug il @ 7@ ueei o s fefwe:
TS hi-gd e :

T e 1 T U1 U ¢ Fa A aty, Jread qen geereTeRdl S w3l
fshareres fter < T T 1 A8 UM T T A ¢ e et ste t westi % qod we
37 TS 1 S o YA R € 9o Tk ueh faem Sern T § foR sfe e § ek

ETR:CT I

Ty 78 HET S § foh AATaE ot STaemom ol STRey i foar oman gr femen
T ® AR 1970 % <9k H $Hh YA TEAH 1 I SH SATIH STHAT 1 1§ S GATHR
hifd % SR SR T AR TS & U o1 A Aied STRR FAUR AT AT Gl Bl B
ST -] i fHerd Udid 81 8 1 51 <ensil § AHa-hi<d il § |eveers < fosafisar &
T T o T STEE g5 1 S ST & ®9 § gufer g foRan e dife siterarn
3T o o IR T STaTd W a1 STUT &l 3R STIHYM o alehl ol el | I S5 fh
g fafeds 1 e § ¢ qel oreeRee i i’ wwE |

49.  Fifen YfquH e ot Fefafed steeensti § 9 fead  fosmaa gam o1?
(A) T

(B) AR Y

(

(

~

C) Yok
D) Ta-freearcs yia

50.  HHGEmET YFie JehId e © :
(A) HHS Y STHAMC 1 I |
(B) WIS SINTEehdl Tel HITel HEAT |
(C)  3Tfdieh STRTEehdl Tal Tfeleh Heer |
(D) HENS ¥ HoTsh qRed |

~—~"

-00o0-
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